Law Offices of William W. Cobb PLC PO Box 274 St. Johnsbury VT 05819 United States

Mike King

Invoice # 0001417
Invoice Date May 20, 2020

Balance Due (USD) \$22,580.00

Task	Time Entry Notes	Rate	Hours	Line Total
Phone conference	[Mike King - White River Jct 05/20/19] William Cobb: Phone call from Mike re: police phone calls to discuss interview; advise Mike that he should not interview without attorney present(.5)	200.00	0.5	100.00
Phone conference	[Mike King - White River Jct 05/21/19] William Cobb: Phone conference with Mike re: status of police and whether he will meet with police	200.00	0.4	80.00
Meeting	[Mike King - White River Jct 06/03/19] William Cobb: Phone conference with Mike King and Shelly King re: Mike's arrest in Franklin County and hold without bail; discuss court appearance for tomorrow 6/4/19 and my appearance to represent him(1.0); Travel to St. Albans and meeting with State's Attorney at State's Attorney's office; review charges, information and affidavit and discuss bail and conditions of release(3.3)	200.00	4.3	860.00
Court appearance	[Mike King - White River Jct 06/04/19] William Cobb: Phone conference with Denise King re: today's court appearance(.5); Travel to Southwest for client meeting and discuss today's court appearance(2.5); Court appearance; meeting with Mike King in holding(.7); Meeting with State and discuss COR/Bail(.4); Court appearance re: arraignment; argument regarding bail and conditions; enter not guilty pleas; Judge Rainville Mike held without bail(2.0)	200.00	6.1	1,220.00
Phone conference	[Mike King - White River Jct 06/04/19] William Cobb: Phone conference with Mike re: status of case(.5); Phone conference with Denise King(.3); Phone conference with Erica, fiancée (.4)	200.00	1.2	240.00
Preparation	[Mike King - White River Jct 06/05/19] William Cobb: Phone conference with Denise King(.3); Phone conference with Erica re: case overview(.3); Phone conference with Mike at facility(.5) Review Windsor County's Motion for Hold without Bail(.4); Review Windsor Information and Affidavit(.6): Review criminal history(.4); Phone conference with Mike re: Windsor documents(.8)	200.00	3.2	640.00

Task	Time Entry Notes	Rate	Hours	Line Total
Phone conference	[Mike King - White River Jct 06/07/19] William Cobb: Review email from Denise King agreeing to terms of fee agreement(.2); Draft reply(.2); Phone conference with Mike re: status of case; discuss motion for bail review(.7); Phone conference with Erika(.4)	200.00	1.5	300.00
Review	[Mike King - White River Jct 06/10/19] William Cobb: Review information and affidavit from Caledonia including motion for hold without(.8); Phone conference with Mike re: status of charges in Caledonia; discuss Windsor(.5)	200.00	1.3	260.00
Preparation	[Mike King - White River Jct 06/17/19] William Cobb: Draft email to Caledonia re: conditions of release; review reply(.4); Review Conditions of Release from Caledonia(.4); Phone conference with Erika re: Caledonia charges(.3); Phone conference with Mike re: Caledonia charges(.4) Draft notice of appearance and letter to Windsor(.5); Draft motion for bail review re: Windsor charges(1.0); Phone conference with Mike re: same(.3); Draft email to Windsor re: status of case; discuss notice of appearance and motion for bail review and electronic filing(.3)	200.00	3.6	720.00
Preparation	[Mike King - White River Jct 06/18/19] William Cobb: Review email from Windsor for email filing(.2); Draft email to Court with copies of all documents; (.3) Review email from Windsor confirming 6/21 at 1 pm motion for bail review hearing scheduled; draft reply(.4); Phone conference with Mike re: bail review hearing; discuss witnesses and evidence; discuss arguments for release and proposed conditions(.6); Phone conference with Denise King(.3); Phone conference with Erika(.3) Draft email to Heidi Remick, Deputy State's Attorney in Windsor re: motion for bail review and notice of appearance(.3); Phone conference with Heidi Remick re: same; discuss motion hearing and case background(.5); Phone conference with Mike (.3) Review court notice re: Motion for Bail Review Hearing on 6/21/19(.2)	200.00	3.4	680.00
General	[Mike King - White River Jct 06/20/19] William Cobb: Review email from Alan Franklin, Deputy State's Attorney re: amended conditions of release from Caledonia(.3); Phone conference with Alan Franklin re: same(.3); Phone conference with Mike King(.3) Draft email to Heidi Remick, Deputy SA and Kayla, Windsor Court, with corrected conditions of release from Caledonia for Windsor's records due to incorrect address and adding victim; review reply from David Cahill confirming receipt(.2)(1.1)	200.00	1.1	220.00

Task	Time Entry Notes	Rate	Hours	Line Total
Meeting	[Mike King - White River Jct 06/20/19] William Cobb: Travel to Windsor and meeting with State re: bail review motion; discuss conditions; phone conference with Mike(2.5)	200.00	2.5	500.00
Court appearance	[Mike King - White River Jct 06/21/19] William Cobb: Court appearance re: bail review motion; meeting with client and family members/witnesses to discuss hearing - Judge Tomasi, Heidi Remick – contested hearing; Court grants conditions of release(3.0); Review conditions of release; sign and return to court(.3)	200.00	3.3	660.00
Phone conference	[Mike King - White River Jct 06/24/19] William Cobb: Review court notice re: 8/19/19 status conference(.2); Phone conference with Mike re: same(.2)	200.00	0.4	80.00
Meeting	[Mike King - White River Jct 06/28/19] William Cobb: Travel to Lowell and meeting with Mike to discuss status of case(2.8)	200.00	2.8	560.00
General	[Mike King - White River Jct 07/02/19] William Cobb: Phone conference with SA Heidi Remick re: discovery(.3); Phone conference with Mike re: meeting with SA next week(.4)	200.00	0.7	140.00
Meeting	[Mike King - White River Jct 07/08/19] William Cobb: Travel to Windsor for discovery conference with State's Attorney; discuss possible options for resolution(2.5); Phone conference with Mike re: same(.5)	200.00	3	600.00
Phone conference	[Mike King - White River Jct 07/15/19] William Cobb: Phone conference with Mike re: psycho-sexual evaluation with Dr. John Holt and polygraph test with Aldo Fantoni; discuss need to get Defender General Approval(1.0)	200.00	1	200.00
Review	[Mike King - White River Jct 07/29/19] William Cobb: Travel to Windsor – Jury questionnaire review(4.5)	200.00	4.5	900.00
Preparation	[Mike King - White River Jct 08/04/19] William Cobb: Review jury questionnaires; review social media websites for additional information for each of 66 prospective jurors(9.5)	200.00	9.5	1,900.00
Preparation	[Mike King - White River Jct 08/05/19] William Cobb: Jury Questionnaires – conduct People Search for additional information on prospective jurors (10.5)	200.00	10.5	2,100.00
Draft	[Mike King - White River Jct 08/06/19] William Cobb: Draft outline of 66 prospective jurors based on social media search and people search (9.0)	200.00	9	1,800.00
Draft	[Mike King - White River Jct 08/07/19] William Cobb: Draft and review/revise sex crime jury questionnaire(2.5)	200.00	2.5	500.00
Draft	[Mike King - White River Jct 08/12/19] William Cobb: Draft voir dire questions for Windsor Case(3.0)	200.00	3	600.00
Preparation	[Mike King - White River Jct 08/19/19] William Cobb: Travel to Windsor SA re: case resolution(1.5); Phone conference with Mike and Erika; discuss delaying trial	200.00	3.6	720.00

Task	Time Entry Notes	Rate	Hours	Line Total
	date(.5); Draft felony stipulation; circulate with SA and file with court(.8) Draft email to Dr. John Holt re: psycho-sexual evaluation for Mike King; review reply(.5); Phone conference with Mike (.3)			
Phone conference	[Mike King - White River Jct 08/19/19] William Cobb: Draft email to Lora Evans, Def. Gen. re: approval for polygraph and psychosexual; review reply; phone conference with Lora re: same; phone conference with Mike(.5)	200.00	0.5	100.00
Review	[Mike King - White River Jct 08/22/19] William Cobb: Review email from Heidi Remick re: offer (7-15 years all suspended but 3 years to serve); review attachments (sentencing data)(.7); draft reply(.2); Phone conference with Mike re: same(.3)	200.00	1.2	240.00
Phone conference	[Mike King - White River Jct 09/04/19] William Cobb: Draft email to Aldo Fantoni re: polygraph exam at Mike's house in Lowell on Saturday 9/7 at 10 am; provide discovery for both dockets; review reply(.5); Phone conference with Mike confirming polygraph exam this Saturday at 10 am; discuss (.5)	200.00	1	200.00
Draft	[Mike King - White River Jct 09/06/19] William Cobb: Review email from Dr. Holt re: scheduling appointment; phone call to Dr. Holt(.4)	200.00	0.4	80.00
General	[Mike King - White River Jct 09/09/19] William Cobb: Review email from Aldo Fantoni re: result of polygraph test(.3); Review polygraph test(.8); Phone conference with Mike re: results(.5)	200.00	1.6	320.00
Phone conference	[Mike King - White River Jct 09/17/19] William Cobb: Review email from Dr. Holt re: scheduling evaluation(.3); Phone conference with Dr. Holt re: psycho-sexual(.3); Phone conference with Mike re: same(.3)	200.00	0.9	180.00
General	[Mike King - White River Jct 09/20/19] William Cobb: Review hearing notice from Court re: Jury Drawing date(.2); Phone conference with Mike re: same(.3)	200.00	0.5	100.00
Meeting	[Mike King - White River Jct 09/20/19] William Cobb: Travel to Lowell – Meeting with Mike; discuss case(3.0)	200.00	3	600.00
Phone conference	[Mike King - White River Jct 10/04/19] William Cobb: Phone conference with Alan Franklin re: parent-child contact; discuss motion to modify conditions of release to allow supervised parent-child contact in Lowell(.4); Phone conference with Mike re: parent-child contact(.3)	200.00	0.7	140.00
Meeting	[Mike King - White River Jct 10/15/19] William Cobb: Phone conference with Alan Franklin re: parent-child contact(.3); Phone conference with Mike(.3)	200.00	0.6	120.00

Task	Time Entry Notes	Rate	Hours	Line Total
General	[Mike King - White River Jct 10/31/19] William Cobb: Meeting with Mike in Lowell(2.5); Meeting with Tom Paul and discuss case; discuss parent-child contact(1.0); Phone conference with Alan Franklin re: parent-child contact between Mike and children(.5); Phone conference with Mike re: same(.4)	200.00	4.4	880.00
Meeting	[Mike King - White River Jct 11/11/19] William Cobb: Travel to Windsor; discuss status of case with SA(2.5); Phone conference with Mike(.3)	200.00	2.8	560.00
Phone conference	[Mike King - White River Jct 12/06/19] William Cobb: Phone conference with Mike re: status of case and conditions of release(.4)	200.00	0.4	80.00
Phone conference	[Mike King - White River Jct 01/06/20] William Cobb: Phone conference with Mike re: status of depositions; Discuss upcoming court hearings in both counties(.4)	200.00	0.6	120.00
Meeting	[Mike King - White River Jct 01/06/20] William Cobb: Travel to Lowell and meeting with Mike to discuss possible plea agreements/trial strategy(2.5)	200.00	2.5	500.00
Preparation	[Mike King - White River Jct 01/11/20] William Cobb: Review fil prepare for trial (6.5)	e; 200.00	6.5	1,300.00
Review	[Mike King - White River Jct 01/24/20] William Cobb: Review email from Court re: trial dates/jury draws(.2); phone conference with Mike(.2)	200.00 e	0.4	80.00
Draft	[Mike King - White River Jct 01/28/20] William Cobb: Draft lette to Attorney Sleigh and Mike King re; status of case; discuss transfer and other issues; Discuss co-counsel option(1.0)	r 200.00	1	200.00
Draft	[Mike King - White River Jct 02/07/20] William Cobb: Draft emato Julie Smith and forward entire file(1.0)	il 200.00	1	200.00
		Total		22,580.00
		Amount Paid		0.00
		Balance Due (USD)	\$22,580.00

Notes

117.70 Hours

PAYMENT STUB

Law Offices of William W. Cobb PLC PO Box 274 St. Johnsbury VT 05819 United States

Client	Mike King
Invoice #	0001417
Invoice Date	May 20, 2020
Balance Due (USD)	\$22,580.00
Amount Enclosed	